Spickzettel Present Perfect

LearnSolution

Aussagesatz

verneinter Aussagesatz

Subjekt Pradikat Objekt

Subjekt + havn't (hasn’'t) + Pradikat+Objekt

| have written a letter.

| havn't written a letter

He hasn’t written a letter

Besonderheiten

He She It - has!!l!

He has written a letter.

Fragesatz

Fragewort+have (has)+S+P+O

When have | written a letter?

When has he written a letter?

verneinter Fragesatz

Fragewort+havn't (hasn t)+S+P+O

Why havn't | written a letter?

Why hasn’t he written a letter?

have (has) + 3. Verbform (3. Spalte unregelmafdiger Verben)

just

yet

never

ever

already

so far

up to now

manchmal: since, for, recentliy

Anwendung

Das Ergebnis von Handlungen, das in der Gegenwart wichtig
ist

Handlungen, die gerade beendet wurden

Vorgange, die in der Vergangenheit starteten und bis in die
Gegenwart andauern




